

Pay Estimate Created Date: November 2, 2022

	Progress Est Nu 10		Prime B		Blevins As Company	210917-D09 Blevins Asphalt Construction Company			Pay Period End November 1, N 2022 A		riginal Contract Amoun et Change Order mount urrent Contract Amount		\$7,939.52	
Approva	al Date											E	By User	
Novembe	r 2, 2022	2			Gen	erated and Ap	proved	(and should be conside	ered Draft) at th	e Proje	ct Office Leve	el by	weaved	
Novembe	r 2, 2022	2			Reviewe	ed and Approv	ed (and	should be considered	el by	grahac				
Novembe	r 3, 2022	2				Re	eviewed	and Approved at the C	Central Office C	ontrolle	rs Office Lev	el by	ramses	
Origi	nal Com	pletion	Date	Curren	t Completio	n Date	Actu	al Completion Date	% of	f Currer	nt Contract	Amount Con	nplete	
S	eptembe	er 1, 202	22	Sep	tember 1, 20)22					97.66%	6		
			Contract I	nformationa	l Dates			Milestone	5					
Date I	Descript	tion	Original C	ompletion D	Date Currei	nt Completio	n Date	No Milestones Exist f	or Contract					
Acceptar			U	•		•								
Awarded			October 6, 2021		Octobe	er 6, 2021								
Letting D)ate		Septembe	17, 2021	Septer	nber 17, 2021								
Notice to		d Date			November 8, 2021									
Open to	Traffic D	ate				·								
Work Be	gan Date	Э												
Contract	Total Pa	ay For E	Estimate N	o. 10										
					This	Estimate		Previous			To Date			
210917-D09		G Ir D L	Total Posted Items Pay Gross Item Adjustments Incentive Disincentive Liquidated Damage Other Contract Adjustments			\$0.00 \$8,345.63 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$377,457.03 \$23,492.52 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$400,949.55			\$377,457.03 \$31,838.15 \$0.00 \$0.00 \$0.00 \$0.00 \$409,295.18			
Contract	Total Pa	ayable 1	This Estimation	ate:	\$8,3	45.63		\$400,949.3	00		\$409,295.	10		
ems Paid	l This Es	stimate	Period											
	a Availab													
			is Estimate											
			ixist on Cor											
Project Number	Line No.		tem Descrip	_	Adjustment Type	Other Iten Adjustmen Type		Comme	Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmer amount	
J5S3438	0080	WATE	4 IN. WHITE STANDARD TERBORNE PAVEMENT IARKING PAINT, TYPE P BEADS		Other Item Adjustment	Retroreflectiv Adjustment	vity	20% retained amount readings pas	until 3rd party r sed. Estimate #				\$3,105.2	
	0090	WATE	IN. YELLOW STANDAR ATERBORNE PAVEMEN MARKING PAINT, TYPE BEAL		Other Item Adjustment	Retroreflectiv Adjustment	vity	20% retained amount until 3rd party results readings passed. Estimate #0003					\$3,652.4	
	0090	WATE	RBORNE F			Retroreflectiv Adjustment	vity	20% retained amount until 3rd party results readings passed. Estimate #0004					\$1,587.9	



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informatio	n				
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
J5S3438	3438 FAS- S402(067) Seal coat J, AA CAMDEN from Rte. 7 to Rte. 54 on Rte. J and From end of state maintenance to Rte. 54 on Rte. AA										
Totals by .	otals by Job Numbers										
J5S3438		l Item Pay Item Adjustme		Item Pay	This Estimate \$0.00 \$8,345.63 \$8,345.63	Previous \$377,457.03 \$23,492.52 \$400,949.55	To Date \$377,457.03 \$31,838.15 \$409,295.18				
Incentive Disincentive Liquidated Damages Other Contract Adjustm					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

d date and can differ from the posted amount at the time the Estimate was Generated. Note: Posted Qua

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210917-D09	J5S3438	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	55,296.00	0.00	55,296.00	GAL	53,896.00	\$2.24	\$120,727.04
		0001	0020	4094012	SEAL COAT AGGREGATE, GRADE B2	197,484.00	0.00	197,484.00	SQYD	197,484.00	\$0.71	\$140,213.64
		0001	0030 6123000A		TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	EA	1.00	\$1,935.00	\$1,935.00
		0001	0040	6161005	CONSTRUCTION SIGNS	1,605.00	0.00	1,605.00	SQFT	976.38	\$7.40	\$7,225.21
		0001	0050	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	2.00	\$12.65	\$25.30
		INTERI		6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$1,265.00	\$5,060.00
		0001	0070	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$38,601.97	\$0.00
		0001	0071	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$36,784.97	\$36,784.97
		0001	0080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	172,525.00	0.00	172,525.00	LF	172,525.00	\$0.09	\$15,527.25
		0001	0090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	114,140.00	49,622.00	163,762.00	LF	163,762.00	\$0.16	\$26,201.92
		0040 0100 9031250A		9031250A	U-CHANNEL POST, 3 LB	644.00	0.00	644.00	LF	644.00	\$24.50	\$15,778.00
		0040	0110	9035069A	SHF-FLAT SHEET FLUORESCENT	138.00	0.00	138.00	SQFT	138.00	\$44.65	\$6,161.70
		0001	5001	6189901	MISC.Adjust Mobilization for Contract Bond (Contract Bond Payment)	0.00	1.00	1.00	LS	1.00	\$1,817.00	\$1,817.00
	Project J	5S3438 - To	otal Value	e Posted to D	ate as of Report Generated Date							\$377,457.03
210917-D09 Ove	erall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$377,457.03



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Nov 4, 2022

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3438	0010	EMULSIFIED ASPHALT,	Other Item Adjustment	SEAL	2	Jul 1, 2022	weaved1	\$31,838.15	Asphalt cement price adjustment for 53896 gal installed on Estimate 0002
		SEAL COAT		SEAL - Total				\$31,838.15	
			Other Item Adjustment - Total					\$31,838.15	
	0010 -	Total						\$31,838.15	
	0080	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Other Item Adjustment	REFL	3	Jul 19, 2022	weaved1	(\$3,105.25)	20% retained until third party results pass reflectivity test
					10	Nov 2, 2022	weaved1	\$3,105.25	20% retained amount until 3rd party results readings passed. Estimate #0003
				REFL - Tota	I		\$0.00		
			Other Item Adjustment - Total					\$0.00	
	0080 -	Total						\$0.00	
	0090	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Other Item Adjustment	REFL	3	Jul 19, 2022	weaved1	(\$3,652.48)	20% retained until third party results pass reflectivity test
					10	Nov 2, 2022	weaved1	20% retained amount until 3rd party results readings passed. Estimate #0003	
					10	Nov 2, 2022	weaved1	\$1,587.90	20% retained amount until 3rd party results readings passed. Estimate #0004
				REFL - Total				\$1,587.90	
			Other Item Adjustment - Total					\$1,587.90	
			Overrun	Overrun	4	Aug 1, 2022	weaved1	(\$1,587.90)	20% retained ($1,587.90$) until third party results pass reflectivity test
				Overrun - Total				(\$1,587.90)	
			Overrun - Total					(\$1,587.90)	
	0090 -	Total						\$0.00	
	0100	U-CHANNEL POST, 3 LB	Material		3	Jul 15, 2022	SYSTEM	(\$15,778.00)	
					4	Aug 1, 2022	SYSTEM	(\$15,778.00)	
						Aug 16, 2022	SYSTEM	(\$15,778.00)	
				- Total				(\$47,334.00)	
			Material - Total					(\$47,334.00)	
			MaterialCredit	MaterialCredit		Aug 1, 2022	SYSTEM	\$15,778.00	
					5	Aug 16, 2022	SYSTEM	\$15,778.00	
					6	Sep 2, 2022	SYSTEM	\$15,778.00	
				- Total				\$47,334.00	
			MaterialCredit	- Total				\$47,334.00	
	0100 -	Total						\$0.00	
J5S3438 -	Total							\$31,838.15	
Overall -	Total						\$31,838.15		